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FN � �
���	���	 ��	���������
	 H
��	 ������� N .����������$�		
�
����
 x �
���� X = FN(x) � ������	����


X(k) =
N−1∑

j=0

x(j) ω−kj
N , k ∈ Z ).

8�	�������	��� ��� �
���	�� ������ � �������
 �	��

 �
���	�����
��	���������
� H
��	 ��℄�

�� /�������
������ �������!

���� 8
��� �
���� x ��
����	#
� �����������
 CN  ��	 N = 2m�
-������
�

e(j) = x(2j), d(j) = x(2j + 1), j ∈ 0 : m − 1 .

���T&�S�8,� �� ������� X = FN(x), E = Fm(e), D = Fm(d) ���)���
������J�����

X(k) = E(k) + ω−k
N D(k), k ∈ Z . .�/

K���)����&����� 8�
 k ∈ Z 
�		�

1

2

[
X(k) + X(k + m)

]
=

1

2

2m−1∑

j=0

x(j) ω−kj
N

(
1 + (−1)j

)
=

=
m−1∑

l=0

x(2 l) ω−kl
m =

m−1∑

l=0

e(l) ω−kl
m = E(k) ,

1

2

[
X(k) − X(k + m)

]
=

1

2

2m−1∑

j=0

x(j) ω−kj
N

(
1 − (−1)j

)
=

=
m−1∑

l=0

x(2 l + 1) ω
−k(2 l+1)
N = ω−k

N

m−1∑

l=0

d(l) ω−kl
m = ω−k

N D(k) .

D��#
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 ���	����� ��
�}� � .�/�

�� � )�����
� .��� �%℄/ ��� ��
 N = nm 
 ���
������� r
B������� Qr ∈ CN ���	�	��	��� ����
���

Qr(j) =
1

N

N−1∑

k=0

ur(k) ωkj
N , .!/
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��	

u(k) =





n2 ��
 k = 0 [
sin πk

m

(
sin πk

N

)
−1

]2

��
 k = 1, . . . , N − 1�
.%/

D������� ������� r ������	��� �
�	���� ����
��'
� � �����	�����

��*��
'
	����
 ���
��� B��������2

S(j) =
m−1∑

p=0

c(p) Qr(j − pn) .

��������
� �����
 �������
��	�����'



S(ln) = z(l) , l ∈ 0 : m − 1 . .,/

���T&�S�8,�  � b�$�
� .,/ ����� �$���������� ��J����� K�� $��"
�������� ����%��)������ u	�&� C = Fm(c) ��I���Y������ �������"
��Y������� ������� ������$���� ����	��

C(k) = Z(k)/Tr(k) , k ∈ 0 : m − 1 ,

�$� Z = Fm(z) �

Tr(k) =

m−1∑

p=0

Qr(pn) ω−kp
m .

��!� � �����	��	� ��� �
�	� 
��	�	������ ��
��� n = 2�

���T&�S�8,� !� W�I���Y����� Tr(k) ��� n = 2 $��	���*� ���$"
���������

Tr(k) = 1
2

[(
2 cos πk

N

)2r
+

(
2 sin πk

N

)2r
]
, k ∈ 0 : m − 1 . .9/

K���)����&����� H���
�� .9/ ��
 n = 2 .��
 N = 2m/ ��
�
��	�
�
�

u(k) =
(
2 cos πk

N

)2
, k ∈ 0 : N − 1 .

� �
�
 .!/
[
FN(Qr)

]
(k) = ur(k) =

(
2 cos πk

N

)2r
, k ∈ 0 : N − 1 . .</

��	��	 � �	� 

[
FN(Qr)

]
(k) +

[
FN(Qr)

]
(k + m) =

2m−1∑

j=0

Qr(j) ω−kj

N

(
1 + (−1)j

)
=

= 2
m−1∑

p=0

Qr(2p) ω−kp
m = 2 Tr(k).
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���� 8
��� S � 
��	�����'
����� ������ ��
 N = 2m� -� ���	�	�
��	��� 
����
	�

S(2 l) = z(l) , l ∈ 0 : m − 1 .

���
��
� ����	�
� σ(l) = S(2 l+1) l ∈ 0 : m−1� +�� *���� ����������
����
 Fm(σ)�

���T&�S�8,� �� ������$���� ����	��

[
Fm(σ)

]
(k) = ωk

N U1(k) Z(k) , k ∈ 0 : m − 1 , .=/

�$� Z = Fm(z) �

U1(k) =

(
cos πk

N

)2r
−

(
sin πk

N

)2r

(
cos πk

N

)2r
+

(
sin πk

N

)2r
.

K���)����&����� 8� ���	�	�	�
$ ������� ��
 N = 2m 
�		�

S(2 l + 1) =

m−1∑

p=0

c(p) Qr

(
2(l − p) + 1

)
.

-������
� h(p) = Qr(2p + 1)� C���� ����	��		 ���	����� ��#�� �	�	�
�
���� � �
�	 σ = c ∗ h� 8� �	��	�	 � ��}���	

Fm(σ) = Fm(c)Fm(h) . .>/

)���}� Fm(h)� 8�������


[
FN(Qr)

]
(k) −

[
FN(Qr)

]
(k + m) =

2m−1∑

j=0

Qr(j) ω−kj
N

(
1 − (−1)j

)
=

= 2

m−1∑

p=0

Qr(2p + 1) ω
−k(2p+1)
N = 2 ω−k

N

m−1∑

p=0

h(p) ω−kp
m = 2 ω−k

N

[
Fm(h)

]
(k),

�� [
Fm(h)

]
(k) = 1

2
ωk

N

[(
2 cos πk

N

)2r
−

(
2 sin πk

N

)2r
]
. .?/
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$

U1(k + m) = −U1(k)� ��� ������
�
	� � ��������
 ��� �
���� ωk
NU1(k)

����	��� m��	�
��
�	��
��
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 ��� 8
��� z ∈ CN  ��	 N = 2m� 4�	� � �
�
 �����	��		 ����
�
	
�����
� ��	�	� �������	�
� N0 = N  N1 = m e0 = z� (
��
�����	
��	���������
	 �
����� z ��
�	�����	��� � ��
 *�����

>W23E� ����	�
� �
���� e0 �� ��� �
�����

ẽ1(l) = e0(2 l) , d̃1(l) = e0(2 l + 1) , l ∈ 0 : N1 − 1 .

-������
� Ẽ1 = FN1
(ẽ1) D̃1 = FN1

(d̃1)�

YB1h3
E� 8�	����#	� ����	�
� d̃1(l) � ������$ 
��	�����'
������
������� S1(j) ���	�	��	���� 
����
	�

S1(2 l) = ẽ1(l) , l ∈ 0 : N1 − 1 .

8���#
� σ1(l) = S1(2 l + 1) l ∈ 0 : N1 − 1� ��������

d1(l) = d̃1(l) − σ1(l) , l ∈ 0 : N1 − 1 ,

�����	 ������ ����� +�� ��	���� D1 = FN1
(d1) *��� �������


�������� .=/ �����	��
�� ����
��

D1(k) = D̃1(k) − ωk
N0

U1(k) Ẽ1(k) , k ∈ 0 : N1 − 1 . .�@/

a3{E3D4� -����
� �
���� ẽ1� +�� *���� ��	�}� �
���� e1 ��	��� �����
���� E1 = FN1

(e1) ���	�	�
� ���2

E1(k) = Ẽ1(k) + β1(k) ω−k
N0

D1(k) , k ∈ 0 : N1 − 1 . .��/

7�	�� β1 � ���
�������� N0��	�
��
�	��
� �
���� 
����	������
$�
� 
����
$

β1(k + N1) = −β1(k) , k ∈ 0 : N1 − 1 .

���� ��� ������ ����� .��/ ����	��� N1��	�
��
�	��
� �
�������
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 � � 8��� (D1, E1) ������	��� ����������� ����%��)������� ���"
���� z � ��������&��� ������ D�	��� E1 ���	�#
� ������
$ 
�����
��'
$ � ��	���	 E0 = FN0

(e0) �
����� z � ��	��� D1 � �	���
�

�����
� D1 E1 �	�	� E0� +�� *���� ��	�}� ��� ���������	�����
�
�����

g̃1(k) = ωk
N0

(
1− U1(k)

)
, h̃1(k) = 1 + β1(k)

(
1− U1(k)

)
, k ∈ 0 : N0 − 1 .

���T&�S�8,� �� C�� k ∈ 0 : N1 − 1 ������$���� ���������

D1(k) = 1
2

[
g̃1(k) E0(k) + g̃1(k + N1) E0(k + N1)

]
,

E1(k) = 1
2

[
h̃1(k) E0(k) + h̃1(k + N1) E0(k + N1)

]
.

.�!/

K���)����&����� 4� ��	���#	�
� � � ��������
 ��	�
	� ���

E0(k) = Ẽ1(k) + ω−k
N0

D̃1(k) , k ∈ 0 : N1 − 1 .

7��	�
� k �� k + N1 ���
�	�

E0(k + N1) = Ẽ1(k) − ω−k
N0

D̃1(k) , k ∈ 0 : N1 − 1 .

D��#
� 
 ����	� �����	 ���	������ 8�
 k ∈ 0 : N1 − 1 ���
�
�

Ẽ1(k) = 1
2

[
E0(k) + E0(k + N1)

]
,

D̃1(k) = 1
2
ωk

N0

[
E0(k) − E0(k + N1)

]
.

.�%/

-���}��� �������
�� .�%/ � .�@/ 
 .��/2

D1(k) = 1
2
ωk

N0

{[
E0(k) − E0(k + N1)

]
− U1(k)

[
E0(k) + E0(k + N1)

]}
=

= 1
2

[
g̃1(k) E0(k) + g̃1(k + N1) E0(k + N1)

]
;

E1(k) = 1
2

{[
E0(k) + E0(k + N1)

]
+ β1(k)

[(
1 − U1(k)

)
E0(k) −

−
(
1 + U1(k)

)
E0(k + N1)

]}
= 1

2

[
h̃1(k) E0(k) + h̃1(k + N1) E0(k + N1)

]
.

8�	���#	�
	 ���������
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 �!� -������� ������ ����������	�
� ��	���� E0 
�������� �
����
�� z �� ���	 (D1, E1) �	��	��� �	���� ��	�}� 	�} ��� ���������	�����
�
�����

h1(k) = 1 + U1(k) , g1(k) = ω−k
N0

(
1 − β1(k) h1(k)

)
, k ∈ 0 : N0 − 1 .

���T&�S�8,� �� ������$���� ����	�� �%��'����

E0(k) = h1(k) E1(k) + g1(k) D1(k) , k ∈ 0 : N0 − 1 . .�,/

K���)����&����� D������� .��/ 
 .�@/

Ẽ1(k) = E1(k) − β1(k) ω−k
N0

D1(k) ,

D̃1(k) = D1(k) + ωk
N0

U1(k) Ẽ1(k) =

= D1(k) + ωk
N0

U1(k) E1(k) − β1(k) U1(k) D1(k) =

=
(
1 − β1(k) U1(k)

)
D1(k) + ωk

N0
U1(k) E1(k) .

)� �������

 ��	���#	�
� � ����$��	� ��� ��
 k ∈ 0 : N0 − 1

E0(k) = Ẽ1(k) + ω−k
N0

D̃1(k) = E1(k) − β1(k) ω−k
N0

D1(k)+

+ω−k
N0

(
1 − β1(k) U1(k)

)
D1(k) + U1(k) E1(k) =

= h1(k) E1(k) + g1(k) D1(k) .

8�	���#	�
	 ���������
D ���
��
�	����� ����
 ��	�
� ����
�
 .�,/ �
��	 ���
���� ���2

��
 k ∈ 0 : N1 − 1

E0(k) = h1(k) E1(k) + g1(k) D1(k) ,

E0(k + N1) = h1(k + N1) E1(k) + g1(k + N1) D1(k) .
.�9/

�� 2��1���������� ���
��1���� 
�������������

!��� C	�	�� �
�	� ��
���� ��� N = 2s� -������
� Nν = N/2ν  
ν = 0, 1, . . . , s� ��� �������	�
	 ����������� � �������	�
��
 N0 N1 
�
��	���
�	�� ����	��� -��	�
� ���#	 ��� Ns = 1�

� ����	�	 ! ���� ��
���� �
��
�����	 ��	���������
	 E0 →

(D1, E1)� ��� ��	���������
	 ��#�� ������#
��2

E1 → (D2, E2) , E2 → (D3, E3) , . . . , Es−1 → (Ds, Es) .
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���	�	� �����	����
$�
	 ����
��� 8���#
� ��
 k ∈ 0 : Nν−1 − 1

Uν(k) =

(
cos πk

Nν−1

)2r
−

(
sin πk

Nν−1

)2r

(
cos πk

Nν−1

)2r
+

(
sin πk

Nν−1

)2r
,

g̃ν(k) = ωk
Nν−1

(
1 − Uν(k)

)
, h̃ν(k) = 1 + βν(k)(1 − Uν(k)) .

7�	�� βν(k) � ���
�������� Nν−1��	�
��
�	���� �
��'
� 
����	����
��$��� 
����
$

βν(k + Nν) = −βν(k) , k ∈ 0 : Nν − 1 .

g�����
��� ��	���#	�
$ 9 ��������	��� ��	�
$�		 
��	�#�	�
	2
��� k ∈ 0 : Nν − 1 ������$���� ���������

Dν(k) = 1
2
[g̃ν(k) Eν−1(k) + g̃ν(k + Nν) Eν−1(k + Nν)] ,

Eν(k) = 1
2
[h̃ν(k) Eν−1(k) + h̃ν(k + Nν) Eν−1(k + Nν)] .

.�</

)���� ��	����� (D1, D2, . . . , Ds, Es) ������	��� ������ ��������"
��� ����%��)������� ������� z� -��	�
� ��� Ds Es � *�� �
����

!� � 8� ������
 �
��
������
 ��	���������
$ (D1, D2, . . . , Ds, Es)
�	��� ���������
�� ��	��� E0 
�������� �
����� z� +�� *���� ��	�}� ���
���������	����� �
�����

hν(k) = 1 + Uν(k) , gν(k) = ω−k
Nν−1

(
1 − βν(k) hν(k)

)
, k ∈ 0 : Nν−1 − 1 .

D������� .�9/ 
�		�

Eν−1(k) = hν(k) Eν(k) + gν(k) Dν(k) ,

Eν−1(k + Nν) = hν(k + Nν) Eν(k) + gν(k + Nν) Dν(k) ,

k ∈ 0 : Nν − 1 , ν = s, s − 1, . . . , 1 .

.�=/

8�
 ν = 1 ���
�
� E0 = FN(z)�

�� 0��
��1���� ���������! ��1����

���� 8	�	�
�	� .�=/ � �
�	

Eν−1 = hν Eν + gν Dν , ν = s, s − 1, . . . , 1 . .�>/

���T&�S�8,� "� C�� �*%�� t ∈ 1 : s ������$���� ����	��

E0 = h1h2 . . . ht Et +

t∑

ν=1

h1h2 . . . hν−1 gν Dν . .�?/
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� �@%

K���)����&����� 8�
 t = 1 �������	�
	 .�?/ �������	� � .�,/�
4��
�'
����� �	�	��� �	��� ��
�	���
�� ��
����� �� .�>/�

��	�}� �������	�
� Hν = h1h2 . . . hν  Gν = h1h2 . . . hν−1 gν  

ϕν = F−1
N (Hν) , ψν = F−1

N (Gν) .

���T&�S�8,� �� C	��& N = 2s � t ∈ 1 : s� K�� �*%��� ������� z ∈ CN

������$���� ��)��
����

z(j) =

Nt−1∑

k=0

et(k) ϕt(j − 2tk) +

t∑

ν=1

Nν−1∑

k=0

dν(k) ψν(j − 2νk) , j ∈ Z , .!@/

�$� et = F−1
Nt

(Et)( dν = F−1
Nν

(Dν)�

K���)����&����� 8�
�	�
� � .�?/ �������	 ��	���������
	 H
��	
������� N � 8��
�
�

z = F−1
N

(
HtEt

)
+

t∑

ν=1

F−1
N (GνDν) . .!�/

-��	�
� ���

[
F−1

N (GνDν)
]
(j) =

1

N

N−1∑

l=0

Gν(l)Dν(l) ωlj
N =

=
1

N

N−1∑

l=0

Gν(l) ωlj

N

Nν−1∑

k=0

dν(k) ω−lk
Nν

=

=
Nν−1∑

k=0

dν(k)
{ 1

N

N−1∑

l=0

Gν(l) ω
l(j−2νk)
N

}
=

Nν−1∑

k=0

dν(k) ψν(j − 2νk) .

.!!/

g�����
��� ��������	��� ���

[
F−1

N (HtEt)
]
(j) =

Nt−1∑

k=0

et(k) ϕt(j − 2tk) . .!%/

8������
� .!!/ .!%/ � .!�/ ��
�}� � .!@/�
H���
�� .!@/ ������	��� ����������� ��)��
����� ������� z�
8����� ����� .!@/ ��
 ��#��� t ∈ 1 : s ���	�#
� ����� N ������

	��� .�� ����	�����
 ������������ CN/� 8�������
 �����#	�
	 .!@/
�����	��
�� ��� �$���� �
����� z ∈ CN  �� �
��	�� �
������

{{
ϕt(j − 2tk)

}Nt−1

k=0
;

{
ψν(j − 2νk)

}Nν−1

k=0
, ν = 1, . . . , t

}



�@, /���)*
�� ����� ,
���� ����� �
���	���� ����

�	�����
�� ����	��� ���
��� � CN �
�� � 8�
 t = s ����
�� .!@/ ��)������� ������ ����������� ��)"

��
����� ������� z� 8	���� �
��� � ������ ����
 ������ �����#	�
�
����#��	��� �� ������ �����	���� es(0) ϕs(j)�

���T&�S�8,� I�  ���� ����� ��
$����� ϕs(j) ≡ 1�

K���)����&����� +��������� ����	�
�� ��� Hs = NδN �
)�����
� ���

hν(k) = 1 + Uν(k) =
2
(
cos πk

2Nν

)2r

(
cos πk

2Nν

)2r
+

(
sin πk

2Nν

)2r




Hs(k) =
s∏

ν=1

hν(k) .

���� ��� Hs(0) = N � )
#�� �������� ��� Hs(k) = 0 ��
 k ∈ 1 : N − 1�
�����}� k ∈ 1 : N − 1 
 ��	�����
� 	�� � �
�	

k =
(
ks−1, . . . , ks−p+1, 1, 0 . . . , 0

)
2

= (2n + 1)Np

��
 �	������� p ∈ 1 : s� C�� ���

cos πk
2Np

= cos π
2

(
2n + 1

)
= 0 ,

�� hp(k) = 0� 7���
� 
 Hs(k) = 0� 8�	���#	�
	 ���������
)� �������

 ��	���#	�
� > 
 ? ����$��	� ��� �����	 �
��
����

��	 �����#	�
	 �
����� z ∈ CN 
�		� �
�

z(j) = es(0) +

s∑

ν=1

Nν−1∑

k=0

dν(k) ψν(j − 2νk) , j ∈ Z . .!,/

��!� D
����� ϕν = F−1
N (Hν) , ν ∈ 1 : s  �	�	���	��� 
 �}��� ���

������
 �	�	���	����
 
 �}����
 ����$��� 
� �
���	���	 ��	�����
�����
� H
��	 Hν � ����	�}��� � �
������ ψν = F−1

N (Gν)  ���
���
�
�� 
������$�	� Nν−1� �	�
��
�	���� �
��'

 βν � 8��� ��� �� βν ���
����������� ���� 
����
	

βν(k + Nν) = −βν(k) , k ∈ 0 : Nν − 1 . .!9/

���T&�S�8,� �|� K��	����( 
�� ����$	 � .!9/ �	��Y�� βν �%��$���
���$	*'��� ����������@



,��
�� �	��	�&���� ��

� �@9

βν ��'�������� � 
_���(

βν(0) = 1
2
�

D��$� �$���	��� ������ xν(j) = ψν(j + ∆ν) ( �$� ∆ν = 2ν−1 ( %	$��
��'��������� � 
_����� C�� I���

N−1∑

j=0

ψν(j) = 0 . .!</

K���)����&����� 4�		�
[
FN(ψν)

]
(k) = Gν(k) = h1(k) . . . hν−1(k) ω−k

Nν−1

(
1 − βν(k)hν(k)

)
,

��*���


[
FN(xν)

]
(k) =

N−1∑

j=0

ψν(j + ∆ν) ω
−k(j+∆ν)+k∆ν

N =

= ωk
Nν−1

[
FN(ψν)

]
(k) = h1(k) . . . hν−1(k)

(
1 − βν(k)hν(k)

)
.

�
�
� ��� �
���	���	 ��	���������
	 H
��	 �
����� xν �	�	���	���

 �}���� ��� ������
�
	� �	�	���	������ 
 �}������ ������ xν �

+��		 

N−1∑

j=0

ψν(j) = Gν(0) = h1(0) . . . hν−1(0)
(
1 − βν(0)hν(0)

)
.

8�������
 βν(0) = 1
2


 hν(0) = 2  �� �������	��� .!</� 8�	���#	�
	
���������

���T&�S�8,� ��� H��� ����$��� ������ z(j) v ��'��������� � ��"
������� 	������ ���$��
���� �� ( �� ��� ��I���Y����� ������� ���"
��������� ��)��
���� .!,/ ��'���������

K���)����&����� � �
�
 .!</

es(0) = 1
N

N−1∑

j=0

z(j) ,

��� ��� �	�	���	������ es(0) ��	�
���� �	�	���	������ �
����� z ���
��#��	� �}������ 	�� ��	���� E0 = FN(z) .�����	 ������ �����	���
����/� 8���	��		 ������	� ��� E0(−k) = E0(k)�



�@< /���)*
�� ����� ,
���� ����� �
���	���� ����

-����
��� � ����
��� .�</ 
 ����	�
� �}������ ��	����� Dν , Eν

��
 
����

 �}�����
 Eν−1� +�� *���� ���������� 
�	�
���� � �}�����

��	� �
������ ������
� � ����
$ ����� .�</� -����
�	���� g̃ν(k) 

h̃ν(k) *�� ��	�
���� � �
�
 Nν−1��	�
��
�����


Eν−1(−k + Nν) = Eν−1(−k − Nν) = Eν−1(k + Nν) ,

��� �����	�#��	� �}������ Eν−1(k+Nν) � g�����
��� ����	��	��� �}��
����� g̃ν(k + Nν)  h̃ν(k + Nν) � � �	�
�����	 ��
���
� � ����$�	�
$ �
�}�����
 Dν , Eν ��
 ��	� ν = 1, . . . , s � ��� ������
�
	� �	�	���	������
�	������ ��*��
'
	���� eν = F−1

Nν
(Eν)  dν = F−1

Nν
(Dν) � 8�	���#	�
	

���������

�� 	
������ ������
�� �
����!,$� ����#�'

���� 7���}��� ��
���
	� ���#	���� 
������$�
� �
��'
� β1 
β2, . . . , βs  
����	�����$�
� 
����
�� ��	���#	�
� �@� )�����
� 
��� �������� �	�
���� βν ����	��� ���#	���� 0 : Nν−1 − 1 �

H
��'

 βs 
 βs−1 ���	�	��$��� ����������2 βs(0) = 1
2
 βs(1) = −1

2
i

βs−1(k) =






1
2

��
 k = 0 

−1
2

��
 k = 2 

0 ��
 k = 1, 3�

C� ��� βs−1(1) = βs−1(3) = 0 ��	�
	� 
� ���	����� βs−1(3) = −βs−1(1)

 �}�����
 βs−1  � �
�
 ������� βs−1(3) = βs−1(1) �

-��	�
� ��� βs−1(2k) = βs(k) , k = 0, 1 � 8���	�
	� ����� 
 �
���	� ��
��	 ��
 ν = s − 2, s − 3, . . . , 1 ����������� �������	�
	

βν(2k) = βν+1(k), k ∈ 0 : Nν − 1 . .!=/

C��
� ������� ��� 
��	�	�
$� 
������$�
	 �
��'

 β1 , . . . , βs  ���
����	 �����
 � 
����
��
 ��	���#	�
� �@ 
����	�����$� 	�} 
 
����
�
$ .!=/�

G �
��'

 βs−2(k) � �������� �	�
���� 0 : 7 	��� ������ ����
��	�	�� ������� � ����	�
	 βs−2(1) � +	����
�	���� 

βs−2(2k) = βs−1(k), k ∈ 0 : 3 .�������� .!=//,

βs−2(5) = −βs−2(1) .� �
�
 .!9//,

βs−2(3) = βs−2(5) .�� �������

 �}�����
 βs−2(k)/,

βs−2(7) = −βs−2(3) .����� � �
�
 .!9//.



,��
�� �	��	�&���� ��

� �@=

�
�
� ��� ����	�
	 βs−2(1) ���������� ���	�	��	� 	�} ��
 ����	�
�2
βs−2(5)  βs−2(3) 
 βs−2(7)�

�����}� �
��'
$ βν(k) ��
 ν ∈ 1 : s − 3 � B} ����	�
� �� �}����

��	���� ���	�	�	�� ����
��� .!=/� 3�� ����	��� �	�}���� 
��	���� 
�� ���������� ������ ����	�
� βν(2k + 1) ������ ��
 k ∈ 0 : Nν+2 − 1 �
+	����
�	���� 

βν(2k + 1 + Nν) = −βν(2k + 1) .� �
�
 .!9//,

βν(−2k − 1 + Nν) = βν(2k + 1 + Nν) .�� �������

 �}�����
 βν(k)/,

βν(−2k − 1 − Nν−1) = −βν(−2k − 1 + Nν) .����� � �
�
 .!9//.

-��	�
� ���

2k + 1 + Nν = 2(Nν+1 + k) + 1 ,

−2k − 1 + Nν = 2(Nν+1 − k − 1) + 1 ,

−2k − 1 − Nν−1 = 2(Nν − k − 1) + 1 .

8�
 k ∈ 0 : Nν+2 − 1 
�		�

Nν+1 − k − 1 ∈ Nν+2 : Nν+1 − 1,

Nν+1 + k ∈ Nν+1 : Nν+1 + Nν+2 − 1,

Nν − k − 1 ∈ Nν+1 + Nν+2 : Nν − 1.

8��
�
�
 ��� �
��'
� βν(k) ���	�	�	�� �� ��	� �	�}���� 
��	����

� ��������� �	�
����

G�������� �������� ����
��� �
��'
� β1(k), k ∈ 0 : N − 1 �
-�������	 
������$�
	 �
��'

 β2(k) , . . . , βs(k) ����������
��$���
� ������$ �������	�
� .!=/ 	��
 	�� �	�	�
���� � �
�	

βν+1(k) = βν(2k), k ∈ 0 : Nν − 1 . .!>/

���T&�S�8,� � � ��)�������& ���
����� �	��Y�� β1 ����� N/4−
1 �

K���)����&����� -������
�

βνk = βν(2k + 1), k ∈ 0 : Nν+2 − 1, ν = s − 2, s − 3, . . . , 1 .

��� 
 	��� �	 ��	�	�
 ������� 
� ������� ��������	��� ����	������
���#	���� �
��'
� β1 � 4� ���
�	���� ����� 1 + 2 + 22 + · · · + 2s−3 =
N/4 − 1�

8�	���#	�
	 ���������



�@> /���)*
�� ����� ,
���� ����� �
���	���� ����

�� � 5���� �����	���� �
��'
� β1 �� ���
�
� 	��
 � ���	���	
βνk �
�	� 
����������� ����	�
� 1/2 0 
 −1/2� )���
�	� 	��
 ��	 βνk

����� �
�$ ��

β1(k) =





1
2

��
 k = 0 

−1
2

��
 k = N1 

0 ��
 ��������� k ∈ 0 : N − 1�

B��
 ��	 βνk ����� 1/2 �� .��� �
�� �/

β1(k) =






1
2

��
 k ∈ 0 : N2 − 1 
 k ∈ N2 + N1 + 1 : N − 1 

0 ��
 k = N2 
 k = N2 + N1 

−1
2

��
 k ∈ N2 + 1 : N2 + N1 − 1�

.!?/

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

	

�
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�

��

�

��
�

��

�

��

�

��

�

��

�

�	

�

�


�

��

�

��

�
�� �� ����
� �
��'

 β1(k) �
�� .!?/ ��
 N = 32

��!� -��	�
� ��� �
��'

 β1 
� ��	���#	�
� �! ��������$ ���	�
�	��$��� ���
�
 ����	�
��
 yk = β1(k) ��
 k ∈ 1 : N2 − 1� +	��
���
�	���� �������� .!9/ β1(k + N1) = −yk , k ∈ 1 : N2 − 1 � �
�
�
 �}�����
 β1(N − k) = yk , k ∈ 1 : N2 − 1, 
 β1(N1 − k) =
β1(N1 + k) = −yk , k ∈ 1 : N2 − 1� F���	 ���� β1(N1) = −β1(0) = −1

2


 β1(N2) = β1(N2 + N1) = 0  ��������
 β1(N2) = β1(N2 + N1) � �
�

�}�����
 
 β1(N2) = −β1(N2 + N1) �� 
����
$ .!9/�

8�
�	�}� �
� β1(k) �� �������� �	�
��	 ��
 N = 162

β1 = ( 1
2
, y1, y2, y3, 0, −y3, −y2, −y1, −

1
2
, −y1, −y2, −y3, 0, y3, y2, y1 ) .

���� � �!℄ � ���	���	 βν(k) ��	�����$��� �
��'



βν(k) = 1
2
Uν(k) , βν(k) = Uν(k)/(1 + U2

ν (k)) , k ∈ 0 : Nν−1 − 1 .

-�
 ������$� ��	�
 ���������
 ���	�	����
 � ��9�� ���$��� .!>/�
)� �
�� ! 
�����#	�� �
��'
� β1(k) = 1

2
U1(k) ��
 N = 32�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

	
�




�

��

�

��

�

��

�

��

�

��

�

��

�

��

�

��

�

�	

�

�


�

��

�

��

�

��

�

��
�

��

�

��

�

��

�

��

�

�	

�

�


�

��

�

��



,��
�� �	��	�&���� ��

� �@?

�
�� !� ����
� �
��'

 β1(k) = 1
2
U1(k) ��
 N = 32

���� ����� 
������$�
� �
��'
� βν ���	�	��	� �������� ���
����
�
������ � ������ �
��
������ �����#	�

 .!,/�

���T&�S�8,� �!� C	��& N"�����$�
����� �	��Y�� β1(k) ��'������"
��( 
_���( � �	�� ����� 1

2
� �$��� ���	����� �� N1 ��J& ������ �_

)��� �� �����������
���� C	��& �����&��� 	������*'�� �	��Y��
β2(k), . . . , βs(k) �������� � ����'&* �����
������ �� ������	 .!>/�
D��$� ��� ���� ν ∈ 1 : s − 1 ������$���� ��
$�����

ψν+1(2j) = ψν(j) + ψν(j + N/2), j ∈ Z . .%@/

K���)����&����� -��	�
� ��� �	��� 
 ������ ����
 .%@/ ����$���
N1��	�
��
�	��
�
 �
������
� ���
��
� +8H �� �	��� ����
 .%@/2

L(k) =

N1−1∑

j=0

ψν+1(2j) ω−kj
N1

= 1
2

N−1∑

j=0

ψν+1(j) ω−kj
N (1 + (−1)j) =

= 1
2

([
FN(ψν+1)

]
(k) +

[
FN(ψν+1)

]
(k + N1)

)
=

= 1
2

[
ω−k

Nν
h1(k) . . . hν(k)(1 − βν+1(k)hν+1(k)) +

+ ω
−(k+N1)
Nν

h1(k + N1) . . . hν(k + N1)(1 − βν+1(k + N1)hν+1(k + N1))
]
.

4�		� h1(k) = 1+U1(k), h1(k +N1) = 1−U1(k) � 8�������
 N1 �	�
���
�� Nν ��
 ν ∈ 1 : s − 1  �� � �
�
 �	�
��
�����


h2(k+N1) = h2(k) , . . . , hν+1(k+N1) = hν+1(k), βν+1(k+N1) = βν+1(k) .

� �	�
�����	 ���
��	� L(k) = ω−k
Nν

h2(k) . . . hν(k) (1 − βν+1(k)hν+1(k))�
C	�	�� ���
��
� +8H �� ������ ����
 .%@/2

R(k) =
N−1∑

j=0

ψν(j) ω−2kj
N = ω−2k

Nν−1
h1(2k) . . . hν−1(2k)(1 − βν(2k)hν(2k)).

G�
����� ��� hp(2k) = hp+1(k) .�� ���	�	�	�
$/ 
 βν(2k) = βν+1(k)
.�������� .!=// ��
���
� � ���	����


R(k) = ω−k
Nν

h2(k) . . . hν(k) (1 − βν+1(k)hν+1(k)) .

�
�
� ��� L(k) ≡ R(k)  ���
�� 
 ��	�
	� .%@/�
g�����
���	 
��	�#�	�
	 �����	��
�� ��� �
��'
� ϕν = F−1

N (Hν)  
������	 �	 ���
��� �� βν �

���T&�S�8,� ��� C�� ���� ν ∈ 1 : s − 1 ������$���� ��
$�����

ϕν+1(2j) = ϕν(j) + ϕν(j + N/2), j ∈ Z .

+������	������ �� �����	�
$ � ��	���#	�
	� �% �
�� 
�����	����



��@ /���)*
�� ����� ,
���� ����� �
���	���� ����

	�
���
���

�� ��&�$p��) ��
�. ��y��(#,< ���� -����� �
���	����� ������
�
�	����� ����
��� 3���
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